ATS QUESTION BANK

WIREMAN THEORY LEVEL-1

G ERCFCIRIEI R GIED

Q 1. Symbol given below shows a
yeffa srar g1

A). Risk of electric shock\[dSIdl & PP & FA

B). Risk of laser beam\@[ﬁ? §F I Ga

C). Risk of fire\3IT g @a

D). General warning risk of danger\@?ﬁ% SIReH & Grar=g Aarg

Q 2. Why are rubber insulating gloves filled with air? \ Xdg sr{iaié‘l

T BT ¥ T U &1 §°2

A). To conduct air-test\dlg g HIT & ﬁ'ﬂl

B). To see how well they expand\dg %{“quf & ﬁ‘fq f& 9 fFa st dal¥e
fIwR &3 §

C). To make them Iighter\d% el g1 & ﬁ'ﬂl

D). None of these\%':fﬁ I ﬁé :{‘5‘1'

Q 3. What is the benefit of 55 system ? \ 5S UM &b T ATH % ?

A). Increase in manpower\ ‘HUQT%ﬁQ@'
B). Increase in economy \ fggryr & qf&

C). Increase in productivity \SGdlIqd dI | dlx
D). Increase in pollution \UQNUTﬁq%

Q 4. Two charged bodies having equal potential are connected through a
conducting wire, in this case__ .\ FHIA fayg arg F 3nafdrg

fisl &I U ITdd AR P MEHA IS oI g, sSYAHAH |
A). Current will flow\ &I E%Tﬁ

B). Current will not flow\¥IXT :fépf E%Tﬁ



C). Current will flow if a resistor is also connected\ ¥l E%Tﬂ gfe U

gfadiys off g1 8

D). Current will flow if two resistors are also connected\¥IxT E%Tﬁ gfe 33[

gfaty® ot 93 8

Q 5. The Potential Difference between two terminals can be measured by

_________ A\ o efifaat & dig fIyaraz
A). A voItmeter\ﬁ?c'ﬁfET
B). An ammeter\x’d’ﬁf??

C). An ohm-meter\x’rﬁﬁl-ﬁ[?f?
D). A rheostat\f{?ﬂ@i’

Q 6. Daigram given below shows a

&1 yefRid &Iar g1

A). Alternating current\UﬂTa?‘ﬁ TRT
B). Direct current\ﬁg TT

C). Direct voltage\%g fayg

D). Electric charge\ﬁ@’ﬁa A

Q 7. Unidirectional current is also called
____________ ff 7T T 5

A). Direct current\ﬁg IR}

B). Indirect current\SUI& U

C). Alternating current\qwa?ﬁ YTRT

D). Electric charge\ﬁa\'ﬂa 3MaAY

alxl

qIgT &7 bl g

\ A far o faa

\ THfeshta urn @t

Q 8. In a 3-phase system, what is the phase sequence? \ T 3-T5S Jumdl

T B9-pH R gldl g2

A). Red—yellow—blue\F’ITa—@fF’lT—:ﬁ?lT
B). Green-blue-yellow\%’ﬂ-:ﬁFﬂ-lﬂﬂT



C). YeIIow—que-red\‘ﬂﬂT-:ﬁaT-ﬂTa
D). BIue-red-yeIIow\:ﬂaT—aTa—tﬁaT

Q 9. The S.I. unit of power is

gl

A). Watt\dlc

B). Henry\%:fﬁ

C). Coulomb\® I

D). Watt-hour\aTE-Gﬁ'a?

\fagga smaw ot

Q 10. The Sl unit of electric charge is
TY. 375, 3PI3 g

A). Coulomb\ @l
B). Ampere\E”IﬁUT
C). Tesla\%ﬂfﬂ

D). Volt\dIe®

Q 11. Identify the hand tool shown in figure?\]%ﬁ " %@TE M3 83X 3?[\3”?
DI UgAIT B2

A). Combination pIier\OhTﬂ-\Q:l-‘zl-l IR
B). Side cutting plier\¥I38 HIET WA
C). Long nose pIiers\Q’IT*"I "I\I\,rl TR
D). Flat nose plier\l-lfac "I\I\,YI '] R2

Q 12. Identify the hand tool shown in figure?\ﬁﬁ H ﬁ@ﬂt{ MU g 3?[\_;”?
DI AT H?



el
»

A). Neon tester\ﬁ?iﬁ:[ TR
B). Gimlet\fTHTT

C). Screwdriver\¥p glgdy
D). Star-head Screwdriver\WIR-88 ¥ SIaAT

Q 13. Identify the hand tool shown in figure?\ﬁﬁ H %@TE Mu gxd G?[GT?
DI GgAT HY?

A). Pincer\ﬁT\‘:R'

B). Combination plier\ﬁ%ﬁwq g
C). Tong\ﬁT[

D). Flat nose plier\TRIT 19 WA

Q 14. Identify the hand tool shown in figure?\ﬁﬁ " %@TT{ M3 8xd 3‘?[3”?
DI UG HR?

A). Hand dril\gTs 3@
B). Gimlet\ﬁft[@[?.r



C). Ratchet brace\%%?f R
D). Electric drill\gafﬁ$ ﬁ;-:a

Q 15. Intermediate switch is consist of __ terminal .\_&"EY]:F[%QE fga d
cffaa gid § 1

A). Two\a
B). Three\?‘ﬂ:f
C). Four\dIR
D). One\Udh

Q 16. Which of the following is an example of corrosive qux?\g:fff I ﬁ:f
T GIRP TR BT T8R0T 82

A). Zinc chloride\ﬁ$ aa‘mg:c:

B). Tarpin oiI\?‘lT?tﬁ:f aqd

C). Borax\{gel'l

D). None of these\_&":fﬁ I a%_sc :ng

Q 17. Soldering iron bit is of made .\{-I\IQ'SQJI 33T B! fae

®I g gl B

A). Copper\didl

B). Carbon\ﬁé:[

C). Nikchrom\:ﬂgaﬁﬂ
D). Ureka\q\%ﬁb—f

Q 18. Which of the following is the property of a good resistor?\ﬁﬁﬁf@ﬁ

¥ Y P W TCH A UGS HT 07 g2

A). Resistance value tolerance\Ufd3¥ HY LSES]
B). Pulse stability\U®d yzar

C). Long term stability\dIg&Ifas fRUa

D). All of these\d FHI

NERCLIRIEIRCE]

Q 19. Daigram given below shows a

&I yefRid sxar g1



1

fTE/ 2w B,

] ]

A). Inductors connected in series\QUﬁﬁﬁg s'ts'a%'?f

B). Inductors connected in paraIIeI\{-IJ-II'-IidQ H \gé_ iSSdC{-T
C). Capacitors connected in paraIIeI\{-H-II'-IicN H \{J“ST FURyex
D). Capacitors connected in series\QUﬁ H @@ FURYeR

Q 20. The current that changes its magnitude and polarity at regular
intervals of time is called a/an __A\¥HY & fgfag sigua ux
3ot gR@Tor SR yadr H FEAA aTel >y HI HET ol g

A). Alternating current\U?‘qT_q’?‘ﬁ YIRT
B). Direct current\ﬁg YT

C). Direct voltage\ﬁg faya

D). Electric charge\ﬁf{{[ﬂ 3MaAY

Q 21. The form factor is the ratio of
PT AFUT 7|

A). peak value to r.m.s. vaIue\TﬁEF é@ 3R SRUHTY aFﬁ

B). r.m.s. value to average value\3IRUTHTY a@ 3R Qfﬁ'\_ﬂ %rag
C). average value to r.m.s. vaIue\Qa’%Gf a@ 3?[? SRUHATY a@
D). peak value to average vaIue\tﬁ$ ac'g 33 QOI\(UI ac'g

Q 22.In a three-phase system, the voltages are separated by

C\ - gundt |, diees &l IR0 (AT fha

A). 90°
B). 180°
C). 120°
D). 45°



Q 23. In a three-phase system, when the loads are perfectly balanced, the

neutral current is____.\@9-Bo JUIel #, 919 S g avg ¥ Igfd 814 §,
e gl B

A). Zero\ [

B). One-third of maximum\\’r[ﬁ[$?‘fq Hh[ Tdh ﬁfBT_st

C). Two-thirds of maximum\\}[ﬁ[$aq G2l a ﬁf@’[é

D). At maximum\3{f€[$ﬂq

Q 24. The term trickle charge is associated with

eg F Y JST g3 g

A). Dry cel\Y[th Jd

B). Silver zinc battery\ﬁ[c_d? N scd
C). Lead acid battery\@f?sr Hﬁ[_s' gcd

D). Nickel iron battery\ﬁ$a YT ST

Q 25. The current from a solar panel is increased by
999 J 41 SIRT ST STl | |

A). Connecting solar cells in series\ @[? Id B YU H \_rﬁ_s."_ﬂ

B). Using NICAD cells in series with the solar ceIIs\ﬂafT Iq & Iy 9o H
TS TS A BT IUAT HIAT

C). Connecting solar cells in parallel\ IR 9T B FATATGR | \TI\IS.'-II

D). Using lead-acid cells in series with the solar ceIIs\@f? Id & 1Y Joi |
AS-TRIS YA BT IUAIT BT

Q 26. Which of the following is a part of sealed maintenance free

batteries? \ FEfIfET & § #19 1 vw Ha I@I@T gad 9 &1 U@ fewm
g2

A). Container\Uld

B). Separators\ﬁﬂ-ﬂ\_ﬂ$
C). Plates\WCH

D). All of these\T Tt

Q 27. The capacity of a storage cell is expressed in

JF DI AT ¥ gad &I ot g |



A). Ampere Hour\QEﬁq? B[]

B). Kilowatt hour\ﬁfﬁﬁaﬂ_cr gaT

C). Kilowatt ampere\ﬁ;?ﬁa'[_cf \Qmﬂq?
D). Second \®$3

Q 28. Average resistance of human body is AHTAd TR &7 3Mgd

ufady gl

A). 100 ohms\100 3@

B). 1000 ohms\1000 &
C). 1500 ohms\1500 3@
D). 2000 ohms \ 2000 3@

A). RCCB \ 3Tt
B). EELCB\SS QTS
C). MCB\THYTE!

D). MCCB \THII o

Q 30. Ground resistance should be designed such that-\ H\Uﬁﬁ‘d A EES)
gHIR daR fear oren anfet & -

A). grounding resistance should be as low as possible. \ H\Uﬁ[ffﬂ gYrgyd
FH I FT G |

B). grounding resistance should be as high as possible. \Hqﬁﬁ‘if gYrgyd
3fY® A YD 7l |

C). grounding resistance should be always zero. \ Hqﬁffﬂ E{fmﬂ RIG Ep[:'-[
e |

D). None of these\_&':fﬁ I EI?:T_SC :fé}f

Q 31. What type of earthing is used by transmission Iines?\gi{-llrl\-l-‘il'-l ('1I$'-I\I'
1 f69 e 3t siff &1 Iudr fear sran g2

A). Plate earthing\@f?_r 3rfefar
B). Rod earthing\ﬁ_s' 3rfefar



C). Strip earthing\@q 3rfefay
D). All of these\a gt

Q 32. A semiconductor is formed by __ bonds.\@fﬁf$33€? Al

fagfor af~s g1} far smar g |
A). Covalent\a’?fa@f?.r

B). Electrovalent \s@ra@é@fa

C). Co-ordinate \Ebaf\?ﬁ%eﬁf

D). Star-Delta \ETT-%RT

Q 33. A semiconductor has generally valence

electrons.\UH AfATd® & 1F dIR U _ 399 3AFE Bd g

A). 2
B). 3
C). 4
D). 5

Q 34. The varactor diode is usually .\a\ﬁdCQ SIS 31IH(1\I< g

AT gl

A). Forward biased \TIRdS S1ITS

B). Reverse biased \ Rad srgzs

C). Unbiased \AAdIIYS

D). Electrically neutral \ safoT;or: it Jcd

Q 35. A crystal diode isusedas AUD fhpd STars &1 IuAT

____________ ¥ ¥U ¥ fear Srar g |

A). An amplifier \U® THATHIAR

B). A rectifier \Uh IfFewIar

C). An oscillator \ Td Eﬁﬁ'ﬂ

D). A voltage regulator \Udh dieeS FarA®

Q 36. If the PIV rating of a diode is exceeded,

ot pivIRT ORI WS 8, @ __I




A). The diode conducts poorly \ST?:IEITS' LR i+ hdl %I

B). The diode is destroyed \ETEI-TTS' gy Epf g1 % [

C). The diode behaves like a zener diode \3'[?13[3 U SR SIATS B dle
FIER HRAT 7 |

D). The diode behaves like a Super-Conductor \3'[?13[3 TUdh Jfaards ot dle
HIER HIAT @ |

Q 37. Mains AC power is converted into DC power for__ AT

Tt graR &1 St uray # ¥ fau uRafda fear snar g1

A). Lighting purpose\U®IY & I

B). Heater\élf?f?

C). Using in electronic equipment \’5@1 A\I’i\d? dHObQUI\I' ff duq\l‘l OIN:I
D). Cooling\@ﬁ‘m

Q 38. The maximum efficiency of a half-wave rectifier

\U® BIH-d9 IfFeHIaR &t AfHTH cerdn

gt g |

A). 40.60%
B). 81.20%
C). 50%
D). 25%

Q 39. A transistor has ATDH @ﬁf@?ﬁ ____________ Eﬁﬁ%l
A). One pn junction \Udh tﬁ—t{:f NENE]

B). two pn junctions\a tﬂ—t{:f SR

C). three pn junctions \?‘ﬁ:f tﬂ—T\I:T SR

D). four pn junctions \dIX T»ﬁ—lf:f SR

Q 40. The most commonly used semiconductor in the manufacture of a

transistor is A\ U@ Tiforer & fAafo & 999 ofiis swmd
far S19 arar Ard=ra® gl

A). germanium\\_rfﬁﬁqq
B). siIicon\ﬁ[ﬁ'fﬁq



C). carbon \Wﬁf:f
D). Graphite \ath—[_s'_c’

Q41. gives a diversion of 90 degree in the turn of a conduit. \

A). Coupler \UdX
B). EIbow\Q@

C). Bend \3_6'

D). Tee \é)[

Q 42. Entertainment wiring requires __

Hegc § AT B 90 ST T STSIHA IUAS HIATAT § |

cables.\ Q_C’?%:fff?f

agRad $Iq B TWHA A 2|
A). Coax\hIH

B). AV\ Tal

). pvC \ Tidraht

D). CAT 5\ &¢T 5

Q 43. The insulation resistance of 110V alternator can be tested by

_________ .\ 110V 3eeRACY HT HaATdD Uiy
far s g 3 |

A). Meggar \ AR

B). Kwh Meter \ Kwh HIEX

C). Neon tester\ﬁm}f:f T
D). Techometer \ THIHET

qygd: # @ St g
A). Parallel Connection\ JHIAIdY %Y
B). Series Connection\ JU HH

C). Mixed Connection \&ff@f?‘f HH

D). Both Parallel Connection and Series Connect

%H Al

CARURE

A\ O3 H argfa

ion\JATATIY B H 3N Ift



Q 45. Best practicable material for a fuse wires is
aRl & fged FagiRs ugrd ___ gl
A). Copper\didl

B). Tin\feT

C). Iron\?ﬁ%r

D). AIuminium\QFﬁIﬂﬁqq

Q 46. The alternator is based on which of the following principle? \

e Fufafea § @ &9 Rigia oz snuiikd g2

A). Faraday's law of Electrcomagnetic Induction \EDQI% & faqu ﬂdd;\lq
R0 Rygid

B). Ohm's law \ GhEﬂ & g

C). Ampere's law\ Qf&[qq & g

D). None of these)\ g:fff I ﬁ“&f :[EfT

Q 47. Which of the following term does not related to magnet?\ﬁ’-ﬂ 73
®IF U1 Ve 9% 4 Afd gl § 2

A). Arc Iength\ﬂ[%ﬁﬁaﬂg
B). Pole\UId

C). Weber\aa'?

D). Magnetic qux\ﬂdObnlq Ul R

Q 48. What is the unit of magnetic flux?\{j,@id?nlq AT DI ‘$<1bI$r Gl Eﬁ?‘ﬁ %?

A). Weber\aaq
B). TesIa\%W
C). Henry\%'_‘fff
D). Simon\dIgHA

Q 49. Which of the following is not a method of making artificial magnet?

\ g O @ 39 @ 69 gEe 997 & (I a8 g 2

A). Electrolysis\fdgqgd 31ugc g
B). Single touch method\Udhd el f3fy



C). Double touch method\agﬁ w3t fy
D). With the help of electric current\ﬁa\'ﬁa ¢TI BT geradi I

Q 50. What can be known by the rule of Fleming's right hand?\q@fﬁm &
SIfg™ 819 & 9w g1 & 91 far o 9% g 2

A). Direction of dynamically induced EMF. \ nfashia =0 @ ofika 'SCQI[QU’T G|
fe=m

B). Current value\¥IT T HIA

C). Voltage value\d\lct\i\ﬂ D[ HI

D). None of these\";{'_-fﬁ I Eb;fg '_'Té)f

Q 51. A transformer ATD ETHWﬁ?_

A). Changes AC to DC\AC &I DC H §Sddl &
B). Changes DC to AC\DC &I AC § §eddl §
C). Steps up or down DC voltages\DC qiee Sl &l deldl Ul Jcrdl %
D). Steps up or down AC voltages\AC qiee S & deldl dI YcIdl %

Q 52. Oil is used in an oil filled transformer for______
1 fhd THHIHR & AHmIER o1ad & fore uai fobar smar

% |

A). Insulation\gﬁa?ﬂq

B). Lubrication \ﬁ@gﬁﬁq

C). CooIing\?ﬁ‘f‘T

D). Both cooling and insulation\gﬁaQT:T ayr ?ﬁ‘m a‘r:h

.\ Buchholz relay &I

A). Transformer \E:R:WETIfT

B). DC Generator \ SEIBCIGE!
C). DC Motor \ St It Arex

D). Induction Motor\aTUT e



Q 54. In the context of electrical energy consumption 1 Unit is equivalent

to \ Sufec®wd Tasl &t @ud & I<d & 1 gfHe 3

IO QT § |

A). 1 Killo Watt Hour \ 1 f&@l are g¢

B). 10 Killo Watt Hour \ 10 f&dr dre ¢

C). 100 Killo Watt Hour \ 100 f&@l dre ¢
D). 1000 Killo Watt Hour \ 1000 f&d! dre dc¢

Q 55. An analog ammeter is

g

A). A recording instrument \TU®H RerféT a3

B). A controlling instrument \U®H ERELKE]

C). An absolute instrument \Uh Aoy g7

D). An indicating instrument \U®% Tbd &4 aral 47

Q 56. The scale of PMMC type instruments is APMMC UhIR &

ITHUN BT FHTT gl

A). Uniform\?lﬁtﬁﬁ

B). Non - uniform\qf:f—llﬁﬁﬁ

C). Cramped at the lower ends\ﬁa@f 3 gx s
D). Crowded in the middle\dd H $HI3ST

Q 57. An ohmmeter is an instrument for measuring

NgHE P! AT & AT TH IUBI g |

A). Current \PHIT

B). voItage\aB[éGf

C). current, voltage, and resistance\®C, deed T IVEY
D). resistance\%ﬁﬂ%ﬂ

Q 58. What is the unit of capacitance? \ gTiear &t 's;w% Gl ﬁ?ﬁ % ?

A). Henry \ %'_-fff
B). Farad \ B



C). Ohm \ 3@
D). Watt \ dIc

Q 59. Which of the following quantity has no units? \ fAafafea # 9 P
IR Bt BIg THIS A5 gl § ?

A). Magnetic susceptibility\tj,qor)nlq JUreldl
B). Permeability\q?ﬁ%ﬁffﬂ

C). Permittivity\q?ﬁf?.pfﬁ?.p[

D). None of these\'a"'_-fff I Ebaf'sc qé’f

Q 60. Capacitor stored
HIAT G |

A). Energy\Go‘_\_rﬁ
B). Distance\ @ﬁ
C). Time \ ¥HY
D). Light\UhIXI

Q 61. A Nanometer is equal to how many meters?\Udh A e fFaa dex

& JAJ gdl |2

A). 107-9 METERS\107-9 HIeX
B). 10A-6 METERS\107-6 HIEX
C). 1079 METERS\1079 HiEeX
D). 106 METERS\1076 HIEX

Q 62. Which of the following instruments is used to measure illuminance?

\ Udifey &) Ay & forw Rgfafad & ¥ &9 3 33 gy e orar g2

A). Lightmeter\UWQTIITtﬂ
B). Multimeter \ Ao HEY
C). Techometer \ THIEER
D). AIternator\G{c_c'?e[E?

Q 63. Sodium vapour lampisa gas discharge Iamp.\@f%qq

Y &Y TH _ Ty e du g




A). Cold Cathode\aﬁ@ %zﬁg
B). Cold Anode\ﬁc_s' U,'_'h_s'
C). Hot Cathode\ETEr %?-ﬁg
D). Hot Anode\Ea'T_cr E:ﬁg

Q 64. Which of the following terminology is related to sodium vapor

lamps\Fafafaa # @ #17 @ wsracd Afsgy aur dv I I9fda g2

A). Sodium crystals\@f%qq fowd

B). Neon gas\ﬁf?ﬁ:f g

C). High reactance transformer\3= ﬁ"QH%H @jﬁtﬁﬁ?
D). All of these \ T gt

Q 65. What is the full name of HPMV lamp?\UIHTHT T &1 g1 ATH &1

BT 82

A). High Pressure Mercury Vapour Lamp \ BTg IR AYHY JUR AT

B). Height Pressure Mercury Vapour Lamp \ ET_&FE IR AYHY JuR oY

C). High Performance Mercury Vapour Lamp \ ETEF TRBIRAY AXH JUR &Y
D). None of these)\ E'T-T'Ef I ﬁ"&c :T?T

Q 66. Which of the following is a cold cathode Iamp?\ﬁ'ﬁﬁ'ff@ﬁ 7 q DA
I TP DI FUIS AT B2

A). Neon Iamp\ﬁ?ﬁ:f L)

B). Neon sign tube\[aI Wgd &d

C). Sodium vapor Iamp\@f%qq JUR Y
D). All of these \ I gt

Q 67. Why does the reflector used with Iamps?\a'q & 1Y UAIAD BT JAT
i foar Jrar @ 2

A). To control the light \UDIRI CARERIEG RG] ﬁﬂll

B). To direct the light \UIR[ Ca ﬁ{{ﬁﬁf HIT P ﬁ"m

C). To control the light and direct it .\UDIR[ P! FEHg HI9 MR 3@ ﬁ%ﬁﬁf
®IF & fu

D). None of these)\ 3'_'fff I ﬁ'sc :TéT



Q 68. Which of the following is the main component of the fluorescent

tube?\FAIRAT & T o7 W wARIYT SF BT YT 9TH 82

A). Starter\@é?

B). Fluorescent tube\tﬁ'ﬁffﬁﬁ _;d
C). Choke\W®H

D). All of these \ ¥ G

Q 69. Which of the following is the type of an electrical lamp? \ fAgfafaa
# ¥ B9 9 UH fAggda o9 & SR 82

A). Filament Iamps\ﬁ’TFﬂﬁE g
B). Arc Iamp\3ﬂ$ g

C). Discharge Iamps\%W\_rf S|
D). All of these \ I gt

Q 70. is not a part of carbon filament lamps.\

HIe- fhaATdc o &1 Th HIT Al gidl ¢ |

A). Growler\UT3dX
B). Stem\@q

C). Filament \ﬁﬁ?ﬂﬁ?
D). Cap\%q

Q 71. Why is carbon filament lamps vacuumed?\ﬁé'_‘[ frarde du &
fyaffaq =t far smar g2

A). To prevent oxidation of carbon\W_Gf:f P AHTRITBIV AHA & %Q
B). To increase temperature of carbon\aﬂ_ch d[ dIUHA aarfr & ﬁ'ﬂl
C). To increase power consumption\lﬂﬁ P TUT Bl dd;lll & ﬁ'ﬂl
D). All of these \ ¥ G

_is a heating device which is used to heat the

Q72. _
liquid\_____ us gifen feargy § NSg®r Iums avd & 79

HIA & T o oran g1




A). Electrical kettle\_&'@ﬂ%?ﬁa Haal
B). Wire ferrules\dlax BhEd

C). Crimping Tools\ﬁ;fﬁm cd

D). SIeeves\Wﬁaﬂ

Q 73. Which of the following symbol represent Buzzer? \ fgfafea # 9
P19 I U H FoIX B UelRid s g2

A).
e
B).
T
C).
i
D).

0

Q 74. Which of the following is a part of steam iron?\ﬁgﬁr@a ¥ d DT
T TH 3T T UH BT g2

A). Steam Control Knob \Rof]:[ $_gf[?f EIG]
B). Water tank\dIcX %33

C). Filler\flF @R

D). All of these \ & gt

Q 75. Which of the following element controls the temperature in

automatic iron?\RgfIfad & ¥ &7 @1 9@ sifeafes srgIT & QoA &
g ®sar g2

A). Thermostat\qﬁf@?f
B). Water tank\dIcX %$
C). Filler\fth@R

D). All of these \ T gt



Q 76. The drain pump is a part of .\:%:ft'rtr __________ Eal
TS o 3

A). Washing Machine \ iR 7=iF
B). Geyser\TﬁGW

C). Food mixer \ 'S G

D). Microwave Oven\mgaﬁaa 3Ngq

Q 77. Which of the following is a water heater?\ﬁg%@a T o9 TUh
qrex glex g2

A). Geyser\Tﬂ\_ﬂ?

B). Food mixer \ 'S GRS

C). Microwave Oven\HIS%Idd 3NgH
D). All of these \ T gt

\U® gl we |

glevwe ___
A). Electrically insulating\ﬁ?{ﬁa EEINED

B). Thermally conducting \Guﬁq gard$

C). Electrically insulating but Thermally conducting \faqu P dicih dfdb
I gATd D

D). Superconducting\&fﬁfma$

Q 79. A hot plate may be which of the following type ?\U® ETE e

Foffad & 3 5T uapR ot 8 9ot g »

A). Single unit type \ﬁ'ma q\ﬁ?_’ CER]

B). Double unit type \ Sdd qﬁr‘c’ cIgu

C). Single unit type or Double unit type\ﬁm?{ Zjﬁf? cIgU Ul sdd Zjﬁf_c'
CER

D). None of these\ _"Q':fﬁ q ﬁ_sc :rs"f

Q 80. is an electronic cooking device. \

g ®H @l UHIH B IUBHI ¢ |

A). Microwave Oven\ATSHIdd 3



B). Food mixer \ S EGRE
C). Geyser\Tﬁ\_ﬂ
D). Automatic iron\ﬁaﬁ%$ AT

Q 81. 'Cook relay' is a part of which of the following domestic appliance?

\ PP Ro' Fafafed & 9 o1 3 93¢ USRI &1 TS U7 Jidl &2

A). Microwave Oven\Hlsgh\lad 3ngq
B). Automatic iron\3fIcIAfe® IR
C). Food mixer \ 'S GRS

D). None of these)\ 3'_'fﬁ I ﬁ'sc :TéT

Q 82. Which of the following is a Domestic Appliance? \ﬁb‘rﬁfn‘@a 73
DI A TP GG SUBI g ?

A). Microwave Oven\mg?ﬁaa g
B). Geyser\TﬂG[Y

C). Automatic iron\\’rﬁ"@fﬁﬁ$ ST
D). All of these \ & gt

Q 83. Which of the following part is related to the food mixer?\ﬁgﬁff@a
Hq B9 91 4T s e § 99fad 82

A). Blender \@f%’?

B). Blade assembly \@fg IR K|
C). Hexagonal nut\%aﬂTTﬁqa _qc
D). All of these \ T gt

Q 84. The most popular type of motor used in a washing machine is a

\T® g 72T # IUWT B
gl

single phase 240 volts 50 Hz __
S arell 99 AHUT AeR THd Bl 240 AT 50 o

oS

A). Capacitor start squirrel cage motor \ HURYeT Wi BIT o Aex
B). DC Shunt Motor\@ﬁﬁf e A

C). Synchronous Motor\gc'qdvllrad) e

D). Shaded pole motor\-‘i\lgs 0 Hie




Q 85. 3- Phase induction motor stator is similar to which of the following?

\ 3- B U0 AeT &1 weR Rgfafad 7 3 fogd gara giar g »

A). Similar to DC motor stator.\?ﬁ@ eI H LI & g |

B). Similar to the stator of the DC generator\@omjf SV b eI & AT |
C). Similar to the 3-phase alternator stator \3—Cb\7| AEIATY & KX &
DNEIG]

D). All of these\ & gt

Q 86. Which of the following type can be the rotor of 3-phase induction
motor? \ 3- BS URTT HIeR &I Jex Fufafed # 9 g UdR &1 g 9%l ¢ ?

A). Squirrel cage type\lr%\EPQd &S UPHIR BT

B). 3 phase winding\3 Wl AIsf$T gad

C). Both the squirerel cage type and the 3-phase winding\lr%\ehic'l &S PR
&1 dUT 3 Bl AIEfET gaa I

D). None of these\ g:fff I ﬁ‘s‘ :féT

Q 87. Depending on the structure of the rotor, 3 phase induction motor
can be which of the following types ?\ﬁ?? P! HIGAT & SMYIR TR 3 B
O MR Fafafed § 9 {69 garR &t g 9ot g2

A). Squirrel Cage Induction Motor\r@wﬁﬂ &S Y07 Hiex

B). Slip ring induction motor\%[q 37 U071 AR

C). Both squirrel cage induction motor and slip ring induction
motor\f®PIT &S YU MR ayr gy R U0 Aiex G

D). None of these)\ 3'_'fff I ﬁ'sc :TéT

Q 88. Which of the following statement is true about the stator of the 3
phase induction motor?\ﬁHﬁf@ﬁ e ﬁ:f T HYT 3 B YI ;eI &
WX H I A I §?

A). 3 phase windings are installed in its slots-3. \gﬂ% WTE:GS T 3-Bd
g wurfha & ot §

B). 3 phase windings set in its slots can be connected either in star or in
delta. \3YD WY T WIUT 3 B q1fET &I WIR 3Ydl Sl § gAford
forar S g 8

C). Its stator can be connected to 3 phase supply. \3?% LTI Bl 3-To



IS § ST off gHdl &
D). All of these \ T gt

Q 89. The speed at which the rotor rotates is called
the A\ 579 7fd o e guar g 39

A). Motor speed\ﬁf?f?ﬁ"ﬂ%

B). slip\fRa@u

C). Synchronous motion\ﬂ@ﬁﬁ[$ fd
D). Slip Speed \%IU fa

Q 90. Insulation of Winding wire can be destroyed due to which of the
following?\ATSfET TR F1 YA FEfIfIa A I o A FRU I 98 7
THdl §?

A). Due to moisture content in the atmosphere.\dldldXU] A Tt Eﬁaf &
HIRTT

B). High temperature of the surrounding. \3THUTYH &I dAITTHIA IfIw Epf%[ &
HIRTT

C). Due to aging of the machine\ﬁ‘x’ﬁ:l & Eﬂ:ﬁ Eﬁef & B

D). All of these \ ¥ Gl

Q 91. The _unit is the protection centre of the motor
SHIS HIeT TIET BT I $5 2|

starter. \

A). Overload reIay\G{f‘aﬁ-ITT Ra
B). Stator\i%?f?

C). Rotor\ﬁ?ﬁ’?

D). Armature\\’:ﬂﬁ.ﬂ?

Q 92. For all direct on-line starters, relays should be set at which current
value ? \ I+ U 3ffFarss wrdd & fau, Ra & 5w a3 @179 uv e fFar
11 @rfg e

A). Equal to or lower than the full load current indicated on the name-
plate of the motor. \ AIER &I ATH-W< U gRRfq gof dre «11 & IR @1
39 FY |




B). Equal to or greater than the full load current indicated on the name-
plate of the motor.\HIEI ! ATH-W< UR SRRfd gul AS 411 & II&R AT 3T
3T |

C). Greater than the full load current indicated on the name-plate of the
motor.\HIEI &I ATH-WT UR gRRid guf e «r § 3fy® |

D). None of these\ _"Q':fﬁ q ﬁ_sc :re"f

Q 93. Which of the following statement is true for the slip ring induction

motor?\FNARIAT & ¥ &9 W Hy7 Ry K7 9301 Aex & v 997 82

A). The slip-ring induction motor could be used for industrial drives where
variable speed and high starting torque are prime requirements.\%[q T
U HreR & IUAT hefiie g139 & g fbar o goar & wai yRada
M 3R I URNF <THh

B). The stator of the slip-ring induction motor is very much the same as
that for a squirrel cage motor.\%q—ﬁﬂ U0 HieY & We f&pId Hof Arex
& STfi® A g B

C). Stator windings can be either star or delta connected depending upon
the design.\% e ATSfe™, fETNIT & MU U TR a1 ST & &I gl gl
g

D). All of these \ T gt

Q 94. What is the relation between slip, rotor frequency and supply
frequency of a 3 phase slip ring induction motor?\Ud 3 B &g 77 U0
ex & Ry, AeR rgfy aur gwns rgfy d o1 A&y giar g2

A).s =fr/f
B). s =f/ fr
C). s =fr /2f
D). s = 2fr /f

Q 95. The slip of a 3 phase slip ring induction motor can be measured by
which of the following methods?\Ud 3 B 9y R U301 Jiex ot Ay &1
a9 Fgfafad & @ o9 & O & g o o1 9% g2

A). By actual measurement of motor speed\ﬁf?? fd & ardfd® A9 9
B). By comparing rotor and stator supply frequencies\Q\ICQ 3T Wer 3ﬂq\ﬁ

TgRIdl D A1 HIH




C). By Stroboscopic Method\@ﬁﬁﬁl’ﬁﬁ$ fafy g
D). All of these \ I gt

Q 96. What type of rotor is the split phase induction motor?\1ﬁ[€r B
U7 HreX &7 Aex 6T SR &1 gl g 2

A). Squirrel cage type\lf-%\wic'l &S GBI Bl
B). Centrifugal type\ﬁ‘gﬁqg\"[a UHhIR DI
C). Spiral Type\HISXd UHIX Pl

D). None of these)\ E'T'Tef I ﬁ'sc '_-Té:f

Q 97. Which winding is called main winding in a split phase induction

motor?\U® f&ac B U1 Aex & oI Ot argfen g argfén wearnd g »

A). Starting winding\@%ﬂ aTg%‘T

B). Running winding\?ﬁﬂ Tﬂg%"[

C). Both starting and running winding \ET%TT qur T aTg%TT I
D). None of these\ _"Q':fﬁ q ﬁ_sc :rs"f

Q 98. Which winding is made from thin wire in a split phase induction

motor? \ TP f&ae B U A1eX & B9 A argfET udd R 9 9918 ordl @
?

A). Starting winding\ET%Tf aTgﬁt‘;"T

B). Running winding\?ﬁﬂ 5”5"%"[

C). Both starting and running winding \ET%T[ ayr IFT arféa At
D). None of these)\ g:fff I ﬁ“&f :[EfT

Q 99. How is the centrifugal switch in a capacitor-start induction-run
motor connected?\UF HURIEI WId TSI 37 HieX ¥ AAwTa faa ot
&g gwR garfora fear Srar g2

A). In series with the starting winding \ wrfém aTg%Tf & a1y 9ot v H °
B). In Parallel with the starting winding \ wrfémn TJIT'&"%‘T ® 1Y GATATAR
% |

C). In Parallel with the running winding \ I aTg%‘T ® 1Y JATATAR HH
T

D). None of these)\ 3'_'fff I ﬁ'sc :TéT



Q 100. In a single phase induction motor, capacitor is used for which of
the following reason?\U® UHd B U0 Alex |, Sty Aafafea o @
9 H10 § ygad fHar Srar g2

A). Split phase for producing rotating magnetic field. \ HIdQIX gj,dOanq a3
& IATG & T B B fgUISd B |

B). Improving Power Factor\UldX By A YUY AT

C). Draw the leading current\ ST BT g

D). All of these \ I gt

Q 101. In a Permanent capacitor motor, the capacitor is connected in

series with the .\“c'?—ITtﬁ Jyria Jrey & gyt

A). Auxiliary winding \ﬁTGﬁ%Uﬂ 5”5"%"[
B). Load\?‘ﬁ_s'

C). Rectifier\i’%th—[qq

D). Converter\?ﬁ:fa_cgq

Q 102. Which of the following relays can be connected in a motor starter?

\ T Aex wid # Fgfifaa & 9 o @ ke gafsa 8 g 82

A). Magnetic overload relay\ﬁﬁﬁﬁﬁ 3avars Ra
B). Thermal overload relay\%IJ-Tﬂ 3avars Ra
C). Both magnetic overload relay and thermal overload relay\ 'Eﬁ?ﬁ%?ﬁ

aais R aur ydd nazars Ra gt
D). None of these\ g:fff I ﬁ‘s‘ :féT

Q 103. Which of the following machines converts mechanical energy into

electrical energy of AC type?/ﬁﬂ}[ﬁﬂ@ﬁ ¥ g o9 IOt 7efia gifis Sof & Y
W usR B faggd SHoi & uRafdd st g »

A). AIternator\&[c'_t'?efET

B). Rectifier\%ﬁtﬂq?

C). Drum switch \ §H Rag

D). Synchronous Motor\gc'HCbllraw ey




Q 104. Which of the following iron loss exist in the aIternator?\\’r[c—tr?%f_c’?

¥ Fgfafad & 9 &9 @ d@ig e [IgarT gidt 82

A). Hysteresis loss)\ %@ﬁ?ﬁﬂ ETﬁ

B). Eddy current loss \Q@ﬁ HIT ETﬁ

C). Hysteresis loss and Eddy current loss both\%éﬁ'ﬁfﬂ ETﬁf ayr Q?,)[ HIC
IRl

D). None of these)\ 's’:rﬁ' I ﬁé :TéT

Q 105. r.m.s. value of emf per phase in an alterantor is given by which of
the following value?\U® 3fwex-cX # Ufd B STATE & 3. TH.UH AT
A9 & § frg w9 & g o san g2

A). 4.44@FT volts\4.44@FT AeeY
B). 2.44@FT volts\2.44@FT dlecy
C). 2.223FT volts\2.22@FT dleed

D). 0\ Y[

Q 106. The working principle of an alternator is similar to which of the
following?\USP 3e3AeR &1 dIdwil Rgia Rufifea 7 @ feas gwrT gra

g7

A). DC Generator \33[ & ST

B). stepper motor\@qq Hrex

C). DC Motor\8I Ut HIeX

D). Universal motor \ qﬁraﬁa Hrex

Q 107. Which of the following relation is true for a Star connected

alternator? \ U W AT AeIde & forw Rgfrfag & ¥ &1 a5 ddy
g8l g2

V3 X Phase Voltage \ digd e = v3 X B diee o
Phase Voltage\dIg- e = \l-h\_ﬂ e

C). Line Voltage = 2 X Phase Voltage \dIg e = 2 X aﬁGf A
D). Line Current = V2 X Phase Current \dIg- HIT = V2 X %H HIC

A). Line Voltage

B). Line Voltage



Q 108. In an alternator, the alternating current induced in the armature

coil can be brought out in the external circuit with the help of

\ TP @A H, fHaX disd H URT g arehl ganad o1 &1 a1gd wlib e
= R EARCEA

A). Slip rings \ fag R

B). Steering \ fegfim

C). Bearings \ﬁqﬁ‘ﬂ

D). Universal motor\q\ﬁaﬁa mer

Q 109. What does continuity test with test lamp indicate?\%E dg & Ty
f¥axar udteror @ /19 HRaT § ?

A). Continuity between two terminals\@f 9@ & 7er gaaa
B). Short circuit between windings \ aTgﬁé'Tf & O M gfbe

C). Short circuit between the two terminals & continuity between
windings\@ I & A& gadar a1 arsf$n & Ae W< widbe
D). None of these\ ‘s’Hf{' I ﬁ‘i‘c :re"f

Q 110. In the context of the winding of the alternator Kd represents

\ eI B arsfen & g<d o kd P UefRid dIar g |

A). Distribution factor\l%%gi:\l@izl\-‘ilfi ey
B). Pitch factor\ﬁfa ol

C). Coil span\&Igd Wl

D). Resistance coefficient\qﬁff‘&f HUTT$

Q 111. Which of the following switch can turn off the circuit?\ﬁg%@a |
I 19 91 99 uRuy & §¢ BT gHar g2

A). IsoIator\Gﬂ_&'@[@fE?

B). Push button\Yl dc-

C). Both the isolator and push button \\HT“‘Q'@[@TET dyr g1 dc+ =
D). None of these\ _"Q':fﬁ I ﬁ_g :[g)f

Q 112. Which of the following device protects the circuit from short
circuit? \ FBfARIT & § &7 W IusHT gRTY B AE Gihe I gRem g
HI g2




A). Fuse\W ol

B). Indicator\é’%%i’?

C). Push button\YRl o cq

D). None of these\ S':fﬁ I ﬁ_‘éc :re"f

A). Contractor\ﬁ%ﬂi’?
B). Indicator\%’%%f?
C). Fuse\WRJS

D). VoItmeter\?ff?crﬁbe?

Q 114. Which of the following is used to mount the MCB in the control
panel without the screw?\UI{FﬁEﬁ Al ?:F?ra ﬁqa A fo=r P ® dMA P %Q
frofafed & 9 fege Iua fear ST g2

A). DIN rail\ DIN ¥

B). PVC channel\tﬁfﬁ?ﬂ 94
C). Raceway\%ﬂa

D). IsoIator\&ITE'@f?fE?

Q 115. Which of the following is a protective device connected in series
with the live wire 2\ Efafad & ¥ &19 1 tF JReTHS IUHIW § Sl A8
dR & Y A8 & ST o g2

A). Fuse \ W9

B). Rectifier\:‘\’%th—[q?

C). Race way\s\’ﬂa

D). Mica insulation \ATS®T S~IAL

Q 116. protects the cable from twist, tug, cut, break,

strain, vibration etc and prevent the entry of dirt, dust, water, insects and
H9d DI AT, T, FT, §P, LA, HUA

rats into the panel \____

e ¥ garar g ofix U9d | 1T

A). Grommet \‘/ﬁﬁ?f



B). Push button\Yl dc-
C). ReIay\ﬁa
D). Rectifier\%]%tb—[q?

Q 117. In order to generate electricity by water, alternator is rotated by
which of the following means?\Slcl GIXI f&qu IATEH HIA T 3T Dl
fafafed o I feae g1 gurar o g2

A). By water turbine\dIcX cXdIg gIXI
B). By dc motor\@zmaf e 1K)

C). By small generators\dY SEECEEAR
D). All of these \ T gt

Q 118. Which of the following is a gaseous fuel?\ﬁgﬁ‘[@a i ﬁ:f Tdh
TR S99 B2

A). Natural gas\ﬁﬂ?ﬂ g

B). Producer gas\m@ﬁlﬂ? g

C). Both Natural gas and Producer gas\e[ﬂ?a A9 qur u‘rsq\w ¥g
D). None of these\ ‘s’?ﬁ I ﬁ_sc :[?)f

Q 119. Which of the following statement is true for solid fuel (Coal)? \

Fofrfad & ¥ &7 1 $Y7 39 YT (HIIAN) & T IIT § ?

A). Its cost is less than diesel \3T®! AITd SI9d T HH gl gl

B). Its cost is more than dieseI.\‘s{-Id')nI AITd SI9d O Ufy® Epf?'ﬂ %I
C). Its cost is equal to diesel \3TD! AT SIS & FATI Bl gl
D). None of these\ g:fff I ﬁ‘s‘ '_‘ffff

Q120. ___ are used in substations to isolate a part of the
system for general maintenance \HTHIY YdXHId ® %Q e & TUh %‘6@[
P AT HIA & AT D! IR YT & IuAT fbar Srar §

A). Isolators \ &Hgﬁaﬁﬁ

B). Boiler \aﬁtra?

C). Rectifier\i"ﬁtﬁ[q?

D). Lightning arresters \ Q'1|$Ci"\'i‘| RNTH




Q 121. Which of the following is the quality of the bus bar?\d¥ dIX} e

fAofafea & @ &7 a1 7o giar g2

A). Very low impedance \3{% GERIGEIEI

B). High current carrying capacity \ 3= YUIR[ dg- &HdI

C). Very low impedance and High current carrying capacity \&fﬁf g
gfaarer 3k 3= 41T 98 &

D). None of these)\ s’:rﬁ' I ﬁ'sc :TéT

Q 122. What is the aim of using a line insulator in an overhead line? \
AR AT W AT YA BT IUAT HI BT I T T §°?

A). To prevent leakage of current from the conductor to the pole.\®8 &R
¥ UId TP DT & AbS DI ADH & AT

B). To provide an easy way to leakage Current.\?ﬁ%ﬁf YT P U JdH AT
IUAHY HIA & Y

C). To provide Earthing\ﬂiﬁ?ﬂaq IUAX HIA & %Q

D). All of these \T gt

Q123. are erected in places where the line crosses a street, road
or railway line. \ ________ ®1 I9 W yr ¥l fear sndr g St a@rgA
Tl , GSF 1 YAT A1S B UIR HIat g

A). Guard wires\TlTé SIEY

B). Disc insulator\%w gﬁa?ﬂ
C). Relay\f\’@[

D). Push Button\YR[ dc

Q 124. Identify the mandatory sign shown in the picture. \1%[5[ H E{Qﬁa RIY
ffAard IHa o ugad HI|

A). Wear Ear Protection\ &I B &l Ugef

B). Wear Head Protection\ fX &l & g
C). Wear Hand Protection\ 1Y &1 &l ugH
D). Wear Eye Protection\\’rﬂ@ﬁ &I grar Ugff



Q 125. In a three-pin socket the earth terminal which is larger in diameter
and always located at ___ .\?‘ﬂQ—ﬁf:[ gibe H Y efifaa ot g & qgl
grarg elRgARm ___ oR fyd grar g

A). Top\?ﬁﬁ

B). Bottom\:ﬁ%f

C). Left \§TU

D). Right \&Ifg=

Q 126. Why are electrical insulators important?\fa_cgﬂ?ﬁq Pdld D G|
TEayqY ¥

A). They provide power for electric circuits\dg ﬁﬂ:ﬂ?ﬁq uRuy & ﬁ'ﬂl gfad
TaT HId §

B). They are used to protect us from electricity \ 3ddI RURIE] _G'ﬁ ﬁaﬁ?‘f q
ga14 & fae foar snar @

C). They help conduct heat\a S ® Ga1dT HI9 H A HId %

D). They help the flow of electricity\a ﬁ_cgﬁﬂ & Udle " A3 ®Hd %

Q 127. A 10 ohms resistor is powered by a 5-V battery. The current
A\T® 10 3T GfaAYF 5-v 9 G

flowing through the source is

garferd 21 Id A gibR g4 aret 1l

A). 10A
B). 50 A
C). 2A
D). 0.5 A

Q 128. Which of the following is not a part of sealed maintenance free

battery? \RTfIRAT & ¥ 17 W v da I@Iwg gad 9t &1 fewr A8 82

A). Container\UlH

B). Separators\ﬁ‘”’[ﬁﬁ
C). PIates\@f?{H

D). Radiator\i’%ﬁ??



Q 129. Generally grounding is provided .\Wﬂ?‘ﬁ? R

TafET ___ UQd @t ord g1

A). For the safety of the equipment\3U$TUﬁ P & & %E

B). For the safety of the operating personnel\ aTdd FHidal ot Rl &
forg

C). Both for the safety of the equipment and for the safety of the
operating personnel \ SUHIVT B JI&T & AT 3R ffuXfew witfai ot gren
& fag gl

D). For the cooling of the equipment\dHObQUl\l' $ Afrddd & %Q

Q 130. A crystal diode has AUD fhwed s o

g gl

A). One PN junction\Udh QOIQ:T NENE
B). Two PN junctions\a tﬂq:[ NENE
C). Three PN junctions\?‘ﬂ:f tﬁlf'_‘f NENE
D). Four PN junctions\dIX} tﬁqq NENE

Q 131. Which of the following part is called as heart of CRO? \Fofafaa A
T 5T R &1 WaMRs &1 §3T HeT ol g2

A). CRT \Ht3ct

B). Sweep generator \@U NEETEY
C). Trigger circuit \E‘TT gfee

D). Amplifier \UHITIBIIR

Q 132. A short thin piece of wire which is heated up and melt by flowing
__________ AdIR @[ Tdh Jler gdan ghsl
ot rafi® faggd uarg 987 ¥ 1 GHR Uud orar g, 39
STl |

of electric current in it, is called

A). Fuse\WRJl

B). Registor\qﬁfﬁ?{$
C). Circuit\qﬁqﬂ

D). Cel\Hd



Q 133. Which of the following types of wiring is mostly used in domestic

applications? \ RfRIRad ¥ 9 f&9 gyerR &1 araky &1 gaifds Iudim axq
AT H forar Srar € 2

A). Conduit wiring \$%_C’ argfea
B). Cleat wiring \ Feite arafia

C). Batten wiring \ geq argfk

D). None of these \ ‘s’qff I ﬁg :[Epf

Q 134. What can be determined by Fleming's right hand rule? \u@rﬁ'm &
aIfe™ g1y & g g1 3 RuiRka foar o1 9war § »

A). Direction of dynamically induced emf\"Tﬁf‘\’ﬁa g 9 ufka ESEI[HW &t
fa=m

B). Current value\¥IRT &I HIT

C). Voltage value\aéﬁ HT HIHT

D). None of these\_'i’:fff I Eblfé '_‘Tﬁ

Q 135. Voltage doubler circuit is used in which of the following household

appliances?\ diee™ S9AR Ffbe &1 yar Fgfafea & @ 19 § g
ISV H far war 82

A). Microwave Oven\Hlsgb\lad 3gq
B). Food mixer \ 'S e

C). Automatic iron\\’rﬁaﬁ%$ AT
D). All of these\ef gt

Q 136. The basic function of a transformer is to change the

\U® SIYBIHR &1 gd &Y JEA G |

A). Power level \tITaT q9d

B). Voltage Level \a’réa dq9d
C). Power factor \ K ﬁ?aa
D). Frequency \Qﬁ??ﬁ

Q 137. Which of the following machine will have maximum efficiency? \

Fofofad d ¥ 5T aita ot <aar sifsan g



A). Electrical power transformer\ﬁa\'ﬂﬂ gfad E\Tﬂtb—[ﬁ?
B). Electrical power generator\ﬁ@’ﬂﬁ gfdd STvex

C). bC motor\@pﬁﬁ e

D). Induction motor \ égaqr:r e

Q 138. In a sodium vapour lamp, capacitor serves which of the following

purpose?\U® TIfsgw oy oy &, Yury Fufafed # 4 g 3T I ord
HI B2

A). Improves the value of the power factor. \UTdX haeI & A1 | JgYUnrR
HaT gl

B). Decrease the value of the power factor.\UldX thaeX & AT | HH HId
gl

C). It gives uniform light. \dg Tdh JHAT A %Tﬂ% I

D). All of these\a gt

\ P HEUl UTDH UHIR Bl

A). FiIament\ﬁFFﬂﬁE

B). Bulb\¥e§

C). Wiring\aT‘C[ﬁ"T

D). Vacuum Iamp\ﬁfﬁﬁ g

Q 140. Generally, how many filaments are there in a fluorescent tube?

\3TH AR IR TS Ufacifiy ega o fraa frarde ga § »

A). Two\Ql

B). One\Udh

C). Three\?‘ﬁ:f

D). All of these\a gt

Qi141. are used in water heaters to control the current in the
heating element.\dId® d@ H U1 &I AIRAT HI9 & fA€ afex glex &
_________ &1 91T foear sar § |

A). Thermostats \ qﬁf@?{ﬂ
B). Water cooler\dIcX P}



C). Blender\ﬁ?{?
D). Mixer\&{aﬂ?

Q 142. The motor used in household refrigerator is

\aX Y XfpeRey | Hrex Ugad gidl § |

A). Single phase induction motor\Udh'd S U0 e
B). DC series motor \?ﬁﬁf S AMex

C). DC shunt motor \@ﬁ@f e Ae

D). DC compound motor \3)[@[ HUIIS AR

Q 143. Which of the following statement is true for Split Phase Induction

Motor2\Fufafad & Q@ o197 a1 Y7 Rae B WU AeI & T IT | 2

A). The rotor of the split phase induction motor is of squirrel cage

type \f&AT B YR WX HT AT HIT FF SR &I §ial g

B). Two winding, running winding and starting winding are installed on its
stator.\3Hd ¥R U & ATsfEw, IFHT arEfén aur wiféw ardfE wfaqg &t
STt B

C). Running winding is made from thick wire and starting winding with a
thin wire \XHT TEET oY Aie AR § Tur wWifé arEféa & yad aR ¥ g1
ST §

D). All of these \ I I

Q 144. The term "single phasing " is related to which of the following ?

\"RiTa BT weg Rgfrfad & @ f5ad d&4fda g2

A). With Fault\TTee 9

B). With home appliances\ H%G\GU$TUT®
C). With caution\ﬂTa?ﬂ:ﬁﬁ

D). With tool kit \gd fbe ¥

Q 145. The number of rotation per cycle for an alternator is directly
proportionalto ____ AUTD HE?%ET%%‘[E ufd I% ‘EJ\UT-_-TH%
g __ & fau @ gargard gt g

A). Number of poles 'P', divided by two\‘ﬂaﬁ Pl T, 'p! o O faurfora
B). Twice the number of poles\{dl &I WA F &l T



C). Like the number of poIes\%[@fﬂ'ﬁﬁ@lT% HHTAT
D). Like the square of the number of poIes\?\{@f P - & 97 & AT

Q 146. EMF induced in an alternator depends on which of the following
factor?\3ee"ex ¥ I fagyd aig® 9d MUfafad & ¥ &9 ¥ &P WX
R 3 g2

A). Flux per pole\Td ufa oid

B). Number of conductors \CbSOk‘.Q CARIEE!]
C). Speed \Tﬂ%f

D). All of these\ﬁ{ gt

Q 147. Which of the following tool is used to connect the lugs and
thimbles with appropriate cable or wire?\d¥™ dYl PEGE: SYUYdd Had
YT aR ¥ g & fau FAufafed & @ 19 § ¢a &1 w317 fHar S g2

A). Crimping TooIs\ﬁ?ﬁ‘T cd

B). DIN rail\ DIN ¥&

C). Raceway\sﬂ:[a

D). Thermal overload reIay\?ﬂ:fa axars Ra

Q 148. Which of the following relay is used to protect the motor from

overheating? \AIEX &I M @ 9917 & forv Fgfifaa & @ &9 3 Ra
&1 UAIT far srar g2

A). Thermal overload relay\ yHq sfiavars Ra
B). ELCB\SUTII
C). Electro mechanical relay\ ‘s’?raej ﬁ%ﬁaﬁa Ra

D). All of these\a gt

Q 149. Main constituent of coal is \ DI Bl qeq

A). Carbon\mé-‘f

B). Oxygen \&I:[JEI'\‘:‘)[G[:T
C). Nitrogen\ng?;fo:T
D). Methane\tﬁ'a:f



Q 150. Which of the followings is/are the main component of an overhead

line A\ TfIfad & ¥ &9 /T UF NIIRS AT & T UTH o2

A). Conductors & Support \$33€¥f ayr gue
B). InsuIators\gﬁ@[Eﬁ

C). Cross arms \ﬁﬂ =y

D). All of these\d FHI

Q 151. Which of the following is the standard symbol used for Bus-Bar in
single line diagram of a substation? \ fofafea 7 9 I Y ATTH Udid P
AT UH YR T & AT ArgT 3R d §9-91% & U foar onar g »

A).

B).

<

C).
IM]
D).

]

Q 152. The insulation resistance of an electric motor depends on which of
the following factor?\fdggd Alex &1 g+ ufay Fafafea d ¥ ey
®RP U AR B3 g2

A). Temperature \dTJHT

B). Humidity \Gﬂ?fFlT

C). Temperature and humidity both\dIdHIAd 3R 3rgdr gt
D). None of these\ g:fff I ﬁ‘s‘ '_‘fﬁ

Q 153. What is the difference between synchronous speed of the motor
and the actual speed of the rotor? \ e &t QWW%$ fa gur AT i
qIAfAE T HT 3 R HFEAT g2



A). Slip speed\]%[q fa

B). Rotor speed\fﬁf? CARIGI

C). Motor speed\Iﬁ_C’? CARIIG]
D). Partial speed\CHTﬁTﬁ i

LEVEL 1 ANSWER KEY

Question No. |[OptionfQuestion No. |[OptionfQuestion No. [OptionjJQuestion No. |Option
1 A 41 C 81 121 C
2 A 42 B 82 D 122
3 C 43 A 83 D 123 A
4 B 44 A 84 A 124 A
5 A 45 A 85 C 125 A
6 A 46 A 86 C 126 B
7 A 47 A 87 C 127 D
8 A 48 A 88 D 128 D
9 A 49 A 89 A 129 C
10 A 50 A 90 D 130 A
11 D 51 D 91 A 131 A
12 A 52 D 92 A 132 A
13 A 53 A 93 D 133 A
14 A 54 A 94 A 134 A
15 C 55 D 95 D 135 A
16 A 56 A 96 A 136 B
17 A 57 D 97 B 137 A
18 D 58 B 98 A 138 A
19 B 59 A 99 A 139 A
20 A 60 A 100 D 140 A
21 B 61 A 101 A 141 A
22 C 62 A 102 C 142 A
23 A 63 A 103 A 143 D
24 C 64 D 104 C 144 A
25 C 65 A 105 C 145 A
26 D 66 D 106 A 146 D
27 A 67 C 107 A 147 A
28 B 68 D 108 A 148 A
29 A 69 D 109 A 149 A
30 A 70 A 110 A 150 D
31 C 71 A 111 C 151 A
32 A 72 A 112 A 152 C
33 C 73 B 113 A 153 A
34 B 74 D 114 A




35 B 75 A 115 A
36 B 76 A 116 A
37 C 77 A 117 A
38 A 78 C 118 C
39 B 79 C 119 A
40 B 80 A 120 A
WIREMAN THEORY LEVEL-2
Q 1. Dressing and bandages are used to___ _ .\;%ﬁiﬂ 3R U%’Cl\f
&1 IUYI & fau foan srar g

A). Reduce the victim's pain\difsd & TS D HH HIA

B). Reduce internal bleeding\Gﬂdi\QCP Raddld Ebaf P H 0r>~l:|

C). Help control bleeding and prevent infection\ Y&Ild 3 AHHAT P
AH- § 7AEG B

D). Make it easier to take the victim to the hospital\lff%fﬁ Pl AWATd o
ST ST g1

Q 2. What is the first stage of risk assessment?\\_rh@'q J;Lc*«lid)ﬂ Pl e dl
I T 82

A). Hazard identification\“Cq'?‘f)\r &t REIGH
B). Risk characterisation\\_rﬁ@q AU U
C). Toxicity study\ﬁ‘sﬂ?ﬂ?ﬂ AT

D). None of these\g:fff I EI?:T%C :fg}f

Q 3. Symbol given below shows a
EEANGECRGIR

AT fear mar udts

A). No smoking\Y&Uld vy

B). Do not use horn\ﬁ:f vy

C). Risk of fire\ 3T ¥ @A

D). Do not touch\Q-l vy

Q 4. Water is used to extinguish A Ca §31Tef & ]%‘UE Tt
&1 I fawar ran g

A). Class-A fires\QUﬂ -A ST
B). Class-B fires\QUﬁ -B 31T



C). Class-C fires\QUﬂ -C 3T
D). Class-D fires\QUﬁ -D AT

Q 5. is best suited to extinguishing oil or flammable liquid fire.

\ dd I SIARMT A B AT g4 & [T 999 9y g |

A). Dry chemicals\{[&h I
B). Water\uid

C). Foam\‘.:blm

D). Soda acid\?ﬁ?ﬂ Qﬁfg

Q 6. When electrons are passed through electromagnetic field, electrons

________ TS SAERIBUCE &7 § AT Toxd
I g ged g

are deflected away from

g, aisdda ___
A). Negative plate\BUTHD e

B). Positive plate\YdTHD e

C). Neutral pIate\B'aTﬁ:f we

D). Oxidation plate\ 3TN ®HIU e

Q 7. What is the meaning of this ISO graphical symbol?\g9 CHTB;‘IH&?I
M Ea Ud® &1 & Y g2

A). Analog circuit\Q:ITFlT‘T Ry

B). Electricity warning\ﬁa\qa EGICEI

C). Connect earth terminal to the ground\G{Qf efifad @ 99 ¥ FA9 B
D). None of these\%':fﬁ I ﬁé :fﬁ

Q 8. is used in large domestic installation and also in 3-phase

power circuits, the switch consists of 3 fuse carriers, one for each phase.
. IS I WA 3R 3- uraR gfbe # off Iy fear
orar g, 99 & ud® B9

A). Iron - Clad Triple pole \ 3434 &€ foud uid

B). Pendant switch \ﬁ%i’ a9

C). Single pole, two-way switch\ BRI tﬁﬁ, gé ag

D). Intermediate switch\ éCU-InIITSQC Rag

Q. are used to control the circuits or an electrical point
like switches. \ &1 IUAT Afbe o1 safdewd urge O g
o1 Faf3d $I9 & A fear srar g1

o

A). Controlling accessories \O'bgiili?l"l Q@I{-I [
B). Gimlet\ﬁfq@f?f




C). Ratchet brace\%%?f R

D). Electric drill\gf}[%$ ﬁ’jﬂ

Q 10. Which of the following is a type of switch ?\ﬁaﬁfr@a T I DT
TH TSR &1 &7 g2

A). Single pole, one-way switch\ﬁmﬂ u‘ra, 3q-9 f&=

B). Single pole, two-way switch\ BRI u‘ra, g-é 9=

C). Intermediate switch\ é’“c'?ﬁ[%QE a9

D). All of these \ & Tt

Q 11. Which of the following is not true?\‘&':fﬁ I I g1 Hg)f =r€°r' %?

A). Electrician solder — lead-64%, tin-36% \ s'@rafrﬁmq qE - I8 -64%,
e -36%

B). Medium solder — lead-50%, tin-50% \ H¥H AT - A8 -50%, feq -50%
C). Soft solder — lead-37%, tin-63% \ 9H WIS - TS -37%, ¢ -63%

D). Plumber’s solder — lead-70%, tin-30% \ Ted e - A -70%, feq
-30%

Q 12. For carbon resistors, darker colour generally have values close to
\ Fraq gfadtysl & g, 18 I H o AR Uk A9

& HA9 gt 5

B). 5

C). 8

D). 9

Q 13. Which one of the following is a type of resistor?\ﬁ?fﬁf@a 7Y BT
a1 Ul Y S H IR g2

A). Carbon resistor\ma;-_-[ gfaiy®

B). Zinc resistor\%i$ PIRRE D

C). Iron resistor\?‘ﬁ%’ PIGRRE

D). Calcium resistor\%%{fq'q ufady®s

Q 14. Some materials having electrical conductivity much less than most
of the metals but much greater than that of typical insulators, are known
as \ TT gdl B fagga arasmar sfawsir ergsti & ga-n o

9gd &1 gl 8, AfPT Fara® &t ga A

A). Semi-conductors\a{‘if?ﬂ?f$
B). Thermistors\?ﬂﬁgq



C). Varistors\aﬁ’I{ET
D). Variable resistors\qﬁa?‘f:ﬁﬂ ufady®
Q 15. How many cores are used in a cable for the transmission of voltages

upto 66 kV? \ 66 Hdl dF & dlecs & URYU & fT TH Had § fbdd B
&1 I fbar orar g2

A). Single core\Udhd DI

B). Two core\ipf I

C). Three core\?‘ﬁq I

D). All of these\T Tt

Q 16. Which mathematical relation does correctly describe Ohm’s law? \

P19 1 Tt ddy 3" & g &1 9l gufa &1 g2

A). V = IR
B). V = R/I
C). R = VI
D). I = R/V

Q 17. How many coulombs of charge flow through a circuit carrying a
current of 10 A in 1 minute?\Ud Uy & AreEs 9 1 Tdh e d10a®
HIC DI o o4 F fHdd $ATE &1 A Ydrg g 2

A). 600

B). 1200

C). 10

D). 60

Q 18. Why the Power companies supply AC, not DC? \ forett dufAai Q?ﬂ

@1 onyfd w3t §, St 3 Al

A). It is easier to transmit AC\US @I TrAfT ST TSI 3149 §

B). DC is more dangerous\SIl WTGT @IS ©

C). There is no longer a need for DC\3d S B I=d ?%1%

D). None of these\i';'-lal' I or?lé '-Isnl'

Q 19. Which voltage will an AC voltmeter display?\lf@ dieeH eI ST

diees uglRia s

A). Peak-to-peak\tﬂ$ I i d&b
B). Peak\tﬂ$

C). Average\\’:?fﬂa

D). RMS\3RUTHTY



Q 20. As the number of turns in a coil increases, the reactance

N\ ST € s A gAral 3 = g 7, Ry

A). Increases\dgdI %

B). Decreases\‘tTcraT%

C). Stays the same\HHIH Xgdl %

D). Is stored in the core material\H{d UET?-fff Q:'[‘/ngfa foar sran %

Q 21. Aluminium is produced from bauxite by—\Qﬂﬁ[ﬁqq Dl Jdlg-

A). Electrolytic process\sadg\lmlslrecb ufear
B). Oxidation\&ﬁﬁg*ﬂ:{

C). Rotating process\ff%%ﬂ ufear

D). Condensation\$@¢f@?ﬂ:{

Q 22. Battery Is a source of

A). DC Voltage \33[ Tt dree o
B). AC Voltage \ T o qree s
C). Sinusoidal Voltage\ AI3AHIS ST dlec ol
D). Square wave Voltage \ IO 39 diee S

Q 23. The size of the earth or ground wire is based on the

YT WIS a1TR BT ATHIX _ R AR ®rar g1

A). Maximum fault current through the ground wire\UT3$ dIax & HHEH I
YD IH Wi HITC

B). Depends on the soil resistance\ﬁ[?f & ufadiy 3 AR ®war %

C). Both, maximum fault current through the ground wire and depends on
the soilresistance \UTSE TUR & AeAH § AFIH Wi HIT X AN &
gfay g ox AR rar g

D). Rated current carrying capacity of the service Iine\(—lﬁ%l NIER] P HIT
o ST I &l

Q 24. An n-type semiconductor is

I g |

A\T® n- UBIR BT AGATAD

A). Positively charged \ ¥4 nafra

B). Negatively charged \ BTl 3Mafrd

C). Electrically neutral \ saf&;mcﬂ Jod

D). Insulator)\ 37\‘133?

Q 25. A p-njunction actsasa _____
& =0 § P1d HIAT 3

AT®D p-n SR



A). Control switch \ﬁfﬁUT Rag

B). Bi-directional switch \ETEP—GTH%HQT?H ag

C). Unidirectional switch \q\ﬁfETHB\’aQT:TFT a9

D). Two Way switch \¢ 3 fg=

Q 26. A heat sink is generally used with a transistor to

\TF Bie e &1 IudiT oMy dIk uR UH ¢Ifiex & Iy
& fag far s g1

A). increase the forward current \LbTﬁdSr HIT Bl GIGI:I
B). decrease the forward current \ Un\llidsr DT CARGIE
C). compensate for excessive doping \ Sgfd® SIftT &t &rﬁrqﬁ

D). prevent excessive temperature rise \S{Rﬂﬁ$ adlYHI- qﬂﬁ ﬁ Q\ICb:I
Q 27. Principally CRO is a A= =Y T dremzan

g

A). Ammeter\x’ﬁtﬁ?ﬂ

B). Voltmeter\aﬁiﬂg?

C). Wattmeter\?:lT'C"Jﬂ'C’?

D). Watt-hour meter\dIc-4c]l e

Q 28. Which of the following conduit wiring is done on wall surfaces?\

frufafed & ¥ @19 @ Fasge arafky dar ot dag U & At ]2

A). Surface \FT{?H

B). Concealed \$:T¥ﬁa

C). Recessed \ﬁﬁﬂ

D). All of these\d T4t

Q 29. Which among these is a method of wiring?\_’{:fﬁ J B9 gl & Udh
fafr g2

A). Joint box \SATSC Sl

B). Tee system \Epf weq

C). Loop in system \[U & gen

D). All of these\d FH

Q 30. Direction of Magnetic field in a current carrying conductor can be
__________ .\ Ud YI(ATs! Ird® | eIy 87 & fawn

GIRT 14 T o g |

found by

A). Maxwell’s cork screw ruIe\iIOR-Iaﬂ PT Dl Ih ICRE
B). Right hand thumb rule\ Ifg< 81Y & 3IT[& & AIH



C). Maxwell’s corkscrew rule and Right hand thumb rule both\ﬁaﬂaa Eal
HIbep FaT 3R arfes g1y & Siis &1 gy qi

D). Ampere's law\ Qﬁ[q? & Aoy

Q 31. As the size of the plates in a capacitor increases,and all other things
being equal:\SI¥ TYTRT H wel &1 PR ggrd g, =g I+ Il gATT IW@A

g

A). The value of XC increases negatively.\XC &I HIH BUTHD =7 | dedl
g

B). The value of XC decreases negatively.\XC @[ H[H BUTHD =7 Y ged
gl

C). The value of XC does not change.\XC [ HIH 981 geddr %l

D). None of these\i';'-lal' I or>\|=£ '-Isnl'

Q 32.In a Y-connected circuit, between each line voltage and the nearest
phase voltage, there is a phase angleof .\H@ICP NIER qlee o 3?[?
M&HTdd B diecs & d1d Tdh v-FAd S dfbe T, Th B HIvl

B B

A). 90°

B). 0°

C). 30°

D). 60°

Q 33. In series RLC circuit, voltage across resistor, inductor and capacitor
are 5V, 2V and 2V respectively. Find total voltage. \QUﬂ HTTQﬁ@ afkgy ff,
Ay ®, TR SR JUIRT & e HA: 5V, 2 v 3R 2 v &1 T dleed
d B |

A). 5V

B). 4V

C). 2V

D). 9V

Q 34. Which of the following is/are a common feature quality of the
magnet?\AT & ¥ DT I\ gWEF T TH JrHTY T g2

A). Magnet attracts magnetic materials. \ g, ﬂ*dd’;\lf—l uqnffﬁ g
BT 2|
B). Like poles of magnets tend to repel each other.\g*dcr?l. & AT gd U

W # ufasiiad &34 7|

C). Unlike poles of magnets attract each other.\gi-dor;l' & ATGHTT gd U




T P BT BT B
D). All of these\a gt
Q 35. What will be the eddy current loss if the supply frequency of a

transformer becomes double?\q% TUdh ETHU’T[I?T I HW% Wq% aﬂ:ﬁ Epf
ot ® @ v wie w1y T gt o

A). Eight times \ 3IS T

B). Four times \ @Y Il

C). Doubled \ & T[T

D). Remains same \ &rtrﬁaﬁfa ?%Tﬁ

Q 36. What is the purpose of using breather in a transformer?\Ud
SIAHTHR T SEX & IUTANT HRA &1 I HT 872

A). Absorb moisture of air during breathing \sfeT & AT g1 &I TH DI
AMVT B & fag

B). Provide cold air in transformer\giHLbll-IrQ H 33l Bdl Uald HIT B ]%‘[Q
C). Absorb moisture from transformer winding \;\i{-IUDIHrQ dléi-g‘l @ 9 Eb;f
AMVT B & T

D). Filter the transformer oil \QTHWfR & dd B! eI HIA & %Q

Q 37. Which transformer is used for higher Value current measurement? \
I WA S I AU H DI TIHIHR ggad gl 82

A). cT\ & &

B). PT \ U &

C). Distribution Transformer\ IEGEW E\THWﬁT

D). Single Phase transformer) &Ta B E\T'ch—[ﬁ?

Q 38. The human eye is sensitive for wavelength of light ___
WA AW USRI S axmesd ¥ forT gagada 7

A). Below 380 Nanometer(nm) \ 380 e (UCUH) &

B). Above 760 Nanometer(nm) \ 760 A IHIEY (TATH) & HU

C). Between 380 and 760 Nanometer(nm) \380 Gﬁ? 760 -?I'-I\IJ-IGICQ (TATH) *®
qeq

D). Below 180 Nanometer(nm) \ 180 ArHeR (TAUH) CaCE

Q 39. An good illumination source should have which of the following

properties ?\ T® 3w Udifid org & Fgfafed & @ @ @ 7o @1 @nflku »

A). It should have sufficient light.\ STH AW UHIY g1 13T
B). It should be installed at such a place that it gives uniform light.\ I8
T 9718 uR T1fud fear S wifee f g% ue gmw= A9 Iar | |



C). It should have suitable refelector.\gﬂﬁ SUYdd Uddd ?Fﬂ ?ﬂ%ql
D). All of these \ I gt
Q 40. Which of the following Law is related with illumination ?\ﬁgﬁ‘[@a

# ¥ o9 I fAge udifa I gafdg g2

A). Inverse square law\chH gif fAgw

B). Lambert's cosine |aw\%méwﬁw ICRg:

C). Both Inverse square law and Lambert's cosine law\ HohH i g 8iv

AWE F Hiwar gy =

D). None of these\ ‘s’?ﬁ I ﬁ_ﬁc :[?T

Q4. keeps many circuits on/off at constant speed in a
_____________ TH 999 | Faq 7fq uR Sif/ 8% HIar I8 |

A). Drum switch \ 9H Rag

B). Indicating Iamp\’é’%%%ﬂ g

C). Fuse\WRJl

D). ELCB\SUT@I

Q 42. Chokeisa _____ \NE@®sTHs g % I

A). Inductor\a?$

B). Fan \ gr

C). Welding Material \ Jf@T wefga

D). Insulator\gﬁa_cr?

Q 43. Which of the following types of starter is used in fluorescent tube

lamps? \ RUfIfET & ¥ 5T ek &1 ®Ié WIS ga odu § g fea

ST §7

A). Glow type starter\‘?ﬁ HEL IR

B). Thermal type starter\%[f[a cIgy WX

C). Both glow type and thermal type starter\‘?ﬁ cIgy dur yHd gy TR
Q=

D). None of these)\ E':Tﬁ I ﬁ?gc :féT

Q 44. Which of the following part is related to an electric bell? \

fafafea & § &1 W v fagga 9 ddfia g2

A). EIectromagnet\";{aaa"a?{E

B). Arm\G’rITﬁ

C). Electrical contact\i@@d)ﬂ Bl
D). All of these \ T gt

EN
TTdc



Q 45. Glass wool used in which of the following electric domestic

appliance? \ T 49 &I 3WHT A9 ¥ 9§ fH¥ oyq SUSRT & foar 1w g2

A). Geyser\‘ﬂ\_yf?

B). Microwave o\/en\msﬁaa 3Ng

C). Food mixer \ 'S EEEY

D). All of these \ T T+

Q 46. Which of the following is the type of washing machine?\ﬁgﬁﬂﬁa o
T I A1 AR AT BT ISR g2

A). Ordinary\\#f%:fﬁ

B). Semi automatic \ﬁ'ﬁﬁ fcrafes
C). Fully Automatic\q\UfFf: nerafes
D). All of these\d FH

Q 47. Pump set is a combination of which of the following 2\U7 JcT
fufafed & ¥ fea® e JaeH g2

[N Y

A). An electric motor \U®H $€1Id§0b HIC

B). An impeller\ Td 3"-:&?1'?

C). An electric motor and an impeller\Udsh ﬁaqa e 3R Tdh 31:&?[?

D). None of these\ g:fff I ﬁ‘s‘ :féT

Q 48. Which of the following types of motor is used in the Submersible
pumps? \MEIRAT & ¥ i geR 3 Wex &1 yaT geuiiaa duf 4 faa
STl § 2

A). 3—phase\?vﬁ LI

B). 1-phase\Udd LI

C). 1-phase & 3-phase Both \Ucdhd B duT ot B arHl
D). None of these\ ‘s’?ﬁ I ﬁ_ﬁc :[?T

Q 49. Earth point of any machine is the point connected to

\ fo 7=t &1 o uige T gafed fdg g1

A). Ground\’i&[
B). The star point of transformer's secondary\gi%ll-bll-lrﬁ P AH S I TN
fig

. c A a o
C). The delta point of transformer's secondary\cIHIHY P H S B STl
fig
D). To the Neutral point \-cd Wise I

Q 50. The role of Neutral wireisto ..

___ @l




A). Close the circuit\ﬂﬁ??‘f DI §¢ HIAT

B). Carry the consumer load current back to the transformer.\ IUHTET
@S YT P TAHIER T aqr9q o ST

C). Close the circuit and carry the consumer load current back to the
transformer \UfHeT & §g HIA 3 ITUIT WS U1 FI THHIER H 109
NESIEN

D). Move the current into the ground.\$i€ A 'ﬁ[ﬁ[ ERESIEI

Q 51. Which of the following is true for induction motor?\ﬁ‘}[ﬁ‘f@a =ik
DI 1 U0 AR F AT I8 g2

A). Rotor voltage frequency = Slip X Stator frequency\ﬁ?‘f? qree s Wq% =
&I x Wex sngfa

B). Stator frequency = Rotor voltage frequency X SIip\@E? &nqﬁr = T
deeS sgfy x Ray

C). Rotor voltage frequency = V3 X Stator frequency\@f?? qrees Wq% =vV3
x TeX 3Mgh

D). Stator frequency = Rotor voltage frequency X \/3\@?:’? 3‘”@% = e
deeS MRl x v3

Q 52. When the insulation of a 3 phase induction motor deteriorates ,
how does the value of insulation resistance affected?\9d fod 9o Mex
&1 JAAD & Bl § O IUP FAAD YAy &7 A9 {69 gHIR guifad gran

g7

A). The value of insulation resistance decreases. \HdId D ufady & 7T H
H gt g

B). The value of insulation resistance increases. \3dld® ufady & a9 A
gfg adt g

C). The value of insulation resistance remains unchange.\3dldd ufaiy &
a9 srgRafdd g |

D). None of these)\ E':fﬁ I ﬁ'sc :féT

Q 53. The relay should never be setat __ than the actual current

drawn by the motor.\RS &I & i AeX g @ o4 arel aIfd® 9 9
UX 9 q8f fear s1A1 9rfeu |

A). More\G{fﬁ$

B). Less\ ®H

C). Equal\ dX[eX

D). 10 Watt \ 10 dIC



Q 54. Which of the following terminology is not related to the rotor of 3

phase slip induction motor?\ﬁfgﬁﬂc@a 7 I BT ot gsaraat 3 Bl Rag R
U7 HeX & A I Iafda g g »

A). Vent Hole \ﬁﬁﬂ IET

B). Teeth and slot \&id 3‘?[? Wie

C). Slip rings \%q R

D). None of these\ ‘s’?ﬁ I ﬁ_sc '_-[g)f

Q 55. In the single phase induction motor, the starter is used for which of
the following purpose?\U&H T ol U0 Arex H wWId &1 gy Agfafaa #§ @
I F gAIST & AU fHar Sram ge

A). To start the motor\J-I\ICQ P WE HIT ﬁﬂ:{

B). To stop the motor\ﬁf?f? Ca CI HITH ﬁ‘fq

C). To protect the motor from overload\ J-I\ICQ Ebaf 31\|d‘{Q'1\IS @ {;LQI?JH ObQ:I %5
forg

D). All of these)\ I gt

Q 56. Which of the following winding is connected to the main supply in

starting to produce a rotating magnetic field in a split phase induction
motor ?\U® f&ac B U0 A1ex T gHIIER JIPIY &F B IAGH HIA &
fou Aufafea & 9 o9 @ arg

A). Starting winding\@%"f aTg%‘T

B). Running winding\?ﬁﬂ Eﬂg%"[

C). Both starting and running winding \ET%TT qur XHET ?ﬂ‘s”%ﬂ I

D). None of these\ g:fﬁ q ﬁ_sc :re"f

Q 57. For ceiling fans generally the single phase induction motor used is
__________ \ T B9 F g THd B U0 HieX &I
U fhar arar g |

A). Permanent capacitor type \UU:ITefE FURIET UHIR B

B). Split phase type \ AT B UHIR B

C). Capacitor start type \ FURYeT wWid U B

D). Capacitor start and run type \ FURYeT wWIé qur IT UHIR Bt

Q 58. Which of the following is the most economical method of starting a

single phase motor ?\ﬁaﬁf@a 7 F o9 I RTd e #iex &l Wi HIT B
9y fewrad afy g2

A). Capacitance start method\%ﬁﬁ[?ﬂ e fafy
B). Resistance start method \B\Y%R%ﬂ < fafy



C). Inductance start method \_5"_6'3%? < fafy
D). All of these \ I gt
Q 59. Out of the following motors, which will give the highest starting

torque \FAfIRAT Med & ¥ #17 @ ITIT YI M <fdh M »

A). Capacitor start motor \%ﬁﬁ[?? W Aiex

B). Universal motor \qﬁaﬁa e

C). Shaded pole motor\‘«ﬁ@g o |JieX

D). All motors have zero starting torque \Hlﬁ e R efd YA Uald
B

Q 60. Which winding is installed on the stator of split phase induction
motor?\f&AT Ho U0 Mex F DT FF arfET wex ux wifhg & ot g2

A). Running winding\?ﬁ‘T mg%n

B). Starting winding\ET%‘T ?JIT's"%‘T

C). Both Running winding and starting winding\?ﬁ"{ Tﬂg%‘T ayr wrfén
CIERUEE]

D). None of these)\ 3:fff I ﬁ'sc :féT

Q 61. The alternator is of a type generator .\G{c_tf?ef?f?

A). AC\THT
B). DC\SIH
C). AC & DC Both \TWH g1 St Gt

D). Direct Voltage \ STIT qleec

Q 62. Which of the following terminology is related with synchronization
of alternator\FTfITET & ¥ &7 Tt TsaTaclt eI & JHABIABIO I
REIRGECE

A). Running machine\?ﬁ‘T IR

B). Incoming machine\E':T%ﬁ.[‘T A

C). Both running machine and incoming machine\?ﬁ"T T dul §=[$ﬁ7[
ERIE K]

D). None of these)\ E'T'Tef I ﬁ'sc '_-Té:f

Q 63. Which of the following methods is the method of synchronizing the

alternator?\T & ¥ P19 Tt Y srweIqe & qOHIAS S Ft Afd g 2

A). Dark lamp method \3T$ g fafy
B). Bright lamp method\ §g<C g fafy



C). Synchroscope method\ﬁfaﬁﬁ'ﬁq fafa

D). All of these \ I gt

Q 64. DC and AC generators are the same in one important aspect, that is,
they both produce __ in the armature conductors.\@of@ \3?[?
Tt F9RCR UH Ag@qUl Usq H UH 9AIA €, ufq, 9 < sndux arasdl |
____________ I HIA & |

A). Direct voltage\gﬂiﬁﬁﬁr A

B). Alternating EMF\UTTdl SUATH

C). Direct current\@T’Cﬁ'a?f HIT

D). Direct emf\STAYIC SUATD

Q 65. Which of the following types magnetic field poles can be found in
an alternator?\U® 3wey"cX # AU wie U Mffea & ¥ o gaR
% g IHA § 2

A). Stationary \@R

B). Rotating \q\Uf:f gad

C). Stationary or rotating \ T 3ryar ‘Zj\Uf:f gad

D). None of these)\ 3:fff I ﬁ'sc :TEFT

Q 66. The number of cycles completed by the sine wave in one second is
called \TH dhe H 139 99 g1 QX1 fb T 7¢Il &l

IS B ST o g

A). Frequency\ﬁ%?ﬂ

B). Time period\\’rﬂa(—‘fWﬁ

C). Peak vaIue\tﬁ$ HIA

D). RMS value\SIRUHAUY HIH

Q 67. Push button is AYRT dcH

A). A switch\Ud a9

B). An indicator\Udh g%%??

C). Alamp\Udh g

D). A relay \Udh Ra

Q 68. Which of the following is a Safety device? \ fofafea # 9 I
TP GR&T JUSI ¢

A). MCB\THHIEN

B). Fluorescent tube\tl?ﬁﬁﬁ?f _d
C). Rectifier\}\’]%tb—fq?

D). Indicating Iamp\g%asfé"[ g



Q 69. _
inside the control panel.\___

faggd Al & faw v A1l uerg SR 7 |

provides a pathway for electrical wiring

HUAT 9T & 3eX

A). Raceway\%ﬂa

B). Control transformer\$_§ﬂ E\Tﬂtﬁﬁ?

C). Limit switches\fafie fa=

D). Fuse\Wol

Q 70. Which of the following is used to connect the accessories of the
control panel with external control switches, limit switches, input supply
and motor terminals etc.?\&AIA UAd & THRGAS P a8 =70 K97,
fafire Rgg9, $7Ye 9w@rsg ok e ¢d

A). Terminal Connector\CIrl\-Ir"Iﬂ OD:ICK:Q

B). DIN rail\ DIN Xd

C). Raceway\%ﬂa

D). Thermal overload reIay\%Il-Irﬂ 3avars Ra

Q 71. Which of the following device commands the circuit breaker in
abnormal condition?\AAIRET & & o7 W IuHRW iy fufa & wfbe
SHT B HAS AT 82

A). Relay \ Ra

B). Rectifier \3\’]%‘35[?1?

C). Transformer \E\Tﬂtblﬁ:f?

D). Transistor\EAT%TE?

Q 72. Which of the following natural resources is used to generate
electricity?\FEfIfad & § &9 @ wefaew dwyT &1 39T faggd IO
®I9 & o foar orar 22

A). Sun \H\’Cf

B). Wind \gdIl

C). Water \tIT'_-ﬁ

D). All of these \ ¥ I

Q 73. Nuclear reactor is a part of
BT TH HIT B |

\ Ifeaax Ruaex

A). Nuclear power station \ *;I\IFO?Q'MQ qigy WX

B). Hydro electric power station \ Sl‘s\j\l 5(?1Ir0?§\d9 HT(H %E-‘&H
C). Thermal power station \ yHd gfay ¥

D). Solar energy \Fﬁ?ﬂf Q:[\_rﬁ




Q 74. Which of the following is a protective devices used for protection of
equipment from lightning strokes?\ﬁgﬁ“{@a T F DT GR&ETHD SUDRT]
g a®r IuaT aseh & Wre § UGN & Y& & g fHar Srar g2

A). Lightning arresters \ Fﬂg_c’ﬁ"[ T
B). Earth switch \ qd g9

C). Wave trap \?rq’ Eq

D). Coupling capacitor \ HUfIT HURYeR

Q 75. Bus - bars are conductors madeof ____

TR HSRI _ FTIEARN

A). Copper \W\fq?

B). Aluminium \Qagrﬁﬁrtrrr

C). Copper or Aluminium \ﬁtﬁ AHYd[ E?{[Iﬁﬁqﬁ

D). Plastic \W’IT%$

Q 76. Those lines, from where consumers get electric supply is

called .\ @134, 9t § IuHirstt & fawret @ snyfd frad |,
REEa S Il g

A). Distributors \%Ejﬁg?f?f

B). Service line or Service mains\ﬂﬁﬂ dlg« AYdl gfdg a7

C). Feeders\tﬁgﬁ

D). Guard wires\TlTé dirr

Q 77. The normal cable which is connected between distributors and

consumer load terminal are called O\ HTHTY FIF ol faaI®!
___________ HEATA B |

A). Service line or Service mains\ﬂﬁﬂ drgd HAYdl gfdg a4

B). Disc insulator\%@ s"g?fa

C). Relay\ﬁ'@f

D). Guard wires\TIT@f dr

Q 78. Class-C fire extinguishers are used to extinguish ___

& g3 & fau 9ui-c g I &1 IuAT fhar sar %l

A). Fire caused by EIectricity\Iraqu & DI AT ST
B). Fire caused by Oil\d® & BIUN TH ST

C). Fire caused by Chemicals\ii—llqﬂ\l' & HBIXUT AT ST
D). Fire caused by wood\c10b5nl & HIXUT AT 31T

Q 79. Current flowing from positive to negative terminal of a battery due
N\YTHSD A &

to flow of positive charges is known as



UdIg & BV, 9T P YTTHD ¥ FUTHS <ff9d § 987 aret 413 3
& =Y H o1 orar g

A). Conventional current\$ﬁ5f:f?f YIT

B). Electromotive current\gaaijﬁf%a TRT

C). Potential current\tﬁﬁqa IR

D). Resolving current\ﬁ@%ﬂ YIRT

Q 80. As per Indian Standards, the cross-sectional area of the neutral wire
\ HIRTTT AT9SI & AR, 3-BS

GG

in a 3-phase 4 wire systemis ___
4-dqR goumat | Yol diX d HJUTY-hIC ol RELE
A). One-fourth that of a phase conductor\tﬁf qiddh hl Q$-€ﬁ?ﬂ§

B). Half that of a phase conductor\ﬁﬂ_ﬂ qidh Bl ATYUT

C). Equal to that of a phase conductor\L\b\rI CINEA A REE

D). Twice to that of a phase conductor\W sl ATA® Bl gl

Q 81. Which of the following switch is capable of making or breaking two
connections from two positions? \ IEEINIEER T 9 o9 91 &G4 a“r CAEGNE

oI o fFUfaal T Sisa a1 a7 H33 § &9 872

A). Single pole, one-way switch\ﬁi"{a tﬁa’, gq-d g9

B). Single pole, two-way switch\ BRI tﬁ?f, :C:-a fag

C). Intermediate switch\ gfqtﬁ%qa’ g

D). All of these\a gt

Q 82. A semiconductor has temperature coefficient of

____________ g g |

resistance.\Udh fara® & Ufady &1 argHa ﬂUﬂ$ ____________
A). Negative\BUTHD

B). Positive\YdTdHD

C). Zero\¥[U

D). One\Udh

Q 83. In general, greater the absolute value of the impedance in a circuit-

\ITHTg 9% uR, fedt ufvgy & ufaeryr &1 Az a7 Sa=n ifds gar 8-

A). Greater the flow of alternating current) TdTadl Yy bl gdie 3d-rl ﬁ
fyw g

B). Lesser the flow of alternating current.\ yaTadl 1T B garg 3d-1 8
SH B

C). Larger the resistance \3dHl s ufady EaprITI

D). Larger the reactance. \3dl ff¥® gfafear EPTTITI



Q 84. Which of the following is the frequency of direct current?\

fofafad § @ o Gy u o ergfy g2

A). Zero\ [

B). 60 Hertz\60 Bl

C). 50 Hertz\50 §¢ol

D). 100 Hertz\100 B¢l

Q 85. Which type of earthing is also called as ‘fire earthing’? \ﬁﬂ? YhIR
ot fffr & wraR siffr oft s ST 82

A). Plate earthing\@f?.r 3y

B). Rod earthing\ﬁ_s' 3rfefar

C). Strip earthing\&iq rfdfar

D). All of these\d FH

Q 86. What is the net charge of a p-type semiconductor?\Udh p-UHIX &
AfATTH U F A T gral g2

A). Electrically neutral \ﬁﬂ:ﬁ?ﬁq LRG|

B). Negatively charged \ Bl 3Mafrd

C). Positively charged \ ¥4 mafra

D). partially Negatively charged \31Tﬁf$ ¥ T HU ATIfG

Q 87. Which of the following is not a common quality of magnet?\ﬁg 73
P9 I JWEH BT UH AT 07 781 § ?

A). There is one pole of the magnet. \gdW® &I Udh ¢d EFTHT % |

B). Like poles of magnets tend to repel each other.\ﬂwaﬁ & gAA 4d U
W P ufasfia 3 ]|

C). Unlike poles of magnets attract each other. \gwaﬁ & AT gd Udh
GUX @I MH T HIA 7|

D). Magnet attracts magnetic materials. \YW®, JEHIT Tardf & MH T
HIAT G |

Q 88. The earth resistance can be measured by
G2l ST T1UT ST 9l 3 |

A). Fall of potential method\ WId 3B Mefyard fafy

B). Using an earth tester\\’r[?f W H IUAT

C). Ducter ohmmeter method\SdcX &ﬁEIﬁET fafar

D). Both Fall of potential method and Using an earth tester\Wld 3%

qrefyara fafyr sy ord 2w & I gt




Q 89. What type of lamps are carbon filament Iamps?\W_Gf:f fleerde ?ftr,
fFq UHR & U §?

A). Incandescent lamp\ IS |

B). High Pressure Mercury Vapour Lamp\3™ ald U dIH o]
C). Sodium Vapor lamp)\ qfggw oy du

D). Fluorescent tube\ Ufddifa _d

Q 90. A basic hot plate consists of which of the following part? \Udh

gard) gfc we # Fofafed & 9 @9 @ fwn gar g2

A). Base\ 3T}

B). Heater pIate\éTE? e

C). Heating element\dlUd ddd
D). All of these\d FH

Q 91.

A). All of these\e[ gt

B). Ejection pipe \E'@TEIQT:T CIER]

C). Motor \ﬁf?:’?

D). Suction pipe \9RIT UIgU

Q 92. An electric buzzer can be which of the following type? \‘s’éfiaﬁ CSE
fafafed § 9 59 yorR &1 8 95 82

A). Mechanical \ﬁ%ﬁma

B). Electromechanical \s’ﬁa@‘rﬁ%ﬁaﬁa

C). Piezoelectric\tﬁ\?ﬁ 3@[@$

D). All of these\d T4t

Q 93. A starter may trip due to which of the following reason? \ﬁﬂ}[ 7y
DI W BRI Y UH Tex 8T g gHd g ?

A). Low voltage\®H qrees

B). Failure of power supply \%\_ﬂ?ﬁ Pl &nqﬁfﬁ fowaar

C). Persistent overload on the motor\J-I\ICQ U AR 3fIHIR

D). All of these\d FH

Q 94. Which of the following would be the appropriate value of the
insulation resistance between windings in an alternator?\UTd IeIAeT H
EfET & 7 wAraS ufady &1 Iuged w9 Fgfafea & § &= w2

A). 1 mega ohm\1 AT Gﬁa
B). 1000 ohm\1000 3MI&



C). 100 kilo ohm\100 f&dl 3fid

D). 10 kilo ohm\10 f&dl 3fid

Q 95. Which of the following is used to show the availability of supply in
the control panel?\$_§3fﬂ gqd o HWIT_QC P IUAXI DI U & %Q
frafafea & 9 fae ua fear o g2

A). Indicating Iamp\g%aﬂ%ﬂ S|
B). Contractor\ﬁaafq

C). limit switches\ﬁffﬁf_cr g

D). IsoIator\B‘ﬂg@f@fE?

Q 96. MCB is a/an
BT IUBI 3 |

A). Electro-mechanical \ﬁajqa-uﬂ%$
B). Chemical\ﬂmqﬁ$
C). Mechanical\fﬁaﬁ
D). Electro-chemical\f[dggd-TaqTaf®
Q97. _

makes or breaks the electrical circuit. \
SUHIT ¢, off faggd IRUY &I S a1 JY®H ST ¢ |

are the electrical device (or) equipment, which

fagga a7 (A

A). Circuit breakers \ gfebe SHI

B). Lightning arresters \ ?‘ITS'%‘T Ty
C). Boiler \SIWR

D). Disc insuIator\%W S}ﬁa_c’?



Level 2 Answer Key

Question No. Option Question No. Option Question No. Option

1 41 A 81

2 A 42 82 A
3 A 43 C 83 B
4 A 44 D 84 A
5 C 45 A 85 B
6 A 46 D 86 A
7 C 47 C 87 A
8 A 48 A 88 D
9 A 49 A 89 A
10 D 50 C 90 D
11 A 51 A 91

12 A 52 A 92 D
13 A 53 A 93 D
14 A 54 D 94 D
15 C 55 D 95 A
16 A 56 C 96 A
17 A 57 A 97 A
18 A 58 A

19 D 59 A

20 A 60 C

21 A 61 A

22 A 62 C

23 C 63 D

24 C 64 B

25 C 65 C

26 D 66 A

27 B 67 A

28 A 68 A

29 D 69 A

30 C 70 A

31 B 71 A

32 C 72 D

33 A 73 A

34 D 74 A

35 D 75 C

36 A 76 A

37 A 77 A

38 C 78 A

39 D 79 A

40 C 80 A




